NAME: TYOACHIMIN GRACE ISHUGUN 
MATRIC NO: 16/ENG04/058
DEPT: ELECTRICAL/ELECTRONICS ENGINEERING
ASSIGNMENT  3 SOLUTION
a. T1 +T2 -2T3 +T4 +3T5 -T6 = 4
2T1 -T2 +T3 + 2T4 +T5 -3T6 =20
T1 -3T2 -3T3 –T4 +2T5 +T6 =-15
5T1 +2T2 – T3 – T4 +2T5 + T6 =-3
-3T1 -T2 +2T3 +3T4 +T5 +3T6 =16
4T1 +3T2 +T3 -6T4 -3T5 -2T6 =-27
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F21=2/1 = 2, F31=1/1 = 1, F41=5/1 = 5, F51=-3/1 = -3, F61=4/1 = 4
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F32=2/-3 = -0.6667 ,F42=-3/-3 = 1 , F52=2/-3 = -0.6667 , F62=-1/-3 = 0.3333
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F43=4/2.333 = 1.714286 , F53=-0.6667/2.333 = -0.28571 , F63=7.3333/2.333 =  3.142857
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F54=5.428571/-2.57143 = -2.11111, F64=-3.71429/-2.57143 = 1.444444
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F65=1.11111/4.2222 = 0.26316
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